MA103 Lesson 46
Life in a Finite Habitat – Logistic Models
1. The number of whales caught each year in a particular area is limited by international treaty to 400.  Biologists have determined that the whale population in this area changes from year to year according to the recursion equation: 
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a. What does the 400 represent?
b. Assuming that this treaty has been in effect for many years, what is the current whale population?
c. A group of whalers has proposed raising the limit on the number of whales caught each year to 600.  Do you agree with this recommendation?
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2. German biologist R. Carlson studied the growth of yeast under controlled conditions and obtained the following set of measurements for the weight of yeast, in milligrams, as a function of time d (in days).  

Find a difference equation that can be used to predict the weight of yeast during any given day.  









� Problem adapted from: Gordon, Gordon, Tucker, Siegel (2004).  Functioning in the Real World – A Precalculus Experinece, pp. 398.
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